Druckdifferenzdiagramm mit Fliegengitter

SSEWUUS] - UsWS

an (=3 (=3
s B 2
w oo a0

g B§ 88 8 2 g g

= [~ R R = o] L] = Fa0L-58 RIUMUITROD) Jafw g

N

\ AT \ 8
J - i

Zuluft

NN T
VAV N A
NANANTNA T
/,,, ,,”,m , /N/ ,,, 3 x ,,,,,, J
g & m/m? //.m,,,, mwmfm,/

(u7 g} sBusuyng

Druckdifferenz (Pa)

@300-315

@ 250-280

3225
@200
2180

SSTUILLSY -

-~ P150-160
@125

uazmg

2100

[~
=
B

%60 LG9 HINIELAND S of

L]
v

2

p

] A
/
]

40

0

20
Druckdifferenz (Pa)

15

10

Ablufit

..a 3 ,f r.f J/ K fdp
LN RN X 5 %
AN N NI 1
A AN VAN
(=]
E§ § 8 g B S 8 8§
(4ruh  aBusuyny




Druckdifferenzdiagramm ohne Fliegengitter
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Freter Cearschnitt 65-70%
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